R AH3T B (—AAIGR P LB ML) A FOTAE S
B H g KBS FBRAE 4J114H 54 19H 6H9H THTH Fe Rl e/ IMiE P
X " C ) 15.4 17.7 18.0 20.5 20.5 15.4 17.9
— & M W (E % /m) =100 0 0 0 0 0 0 0 0
K W il AR R AR R AR R AR R
AEIYT LR OZOED =0.003 0.0003 < < < < < < <
K E O 2 0o bt & P =0.0005 0.00005 — — < — < < <
tLr vy kOO AED =0.01 0.001 < < < < < < <
h kE O 2 o { & B =0.01 0.001 < < < < < < <
x E #E K O E O LAY =0.01 0.001 < < < < < < <
AN fli 7 v A &b A& B =0.02 0.001 < < < < < < <
Ry B e # % =0.04 0.004 < < < < < < <
T A A v R N ALY T =0.01 0.001 — — < — < < <
3 EE ARG ST =10 0.10 0.62 0.62 0.63 0.64 0.64 0.62 0.63
7 v E E B®E 0L AED =0.8 0.05 < < < < < < <
EVAE I 2 A ) =1.0 0.1 < < < < < < <
] bo 1t R ES =0.002 0.0002 < < < < < < <
H L4 v 4 % H v <0.05 0.005 < < < < < < <
S A-1,2-YraRTF LY RNV A-1,2-YranT Sy =0.04 0.004 < < < < < < <
Y s/ wm o om X K v =0.02 0.001 < < < < < < <
F N% Zmnw = F L v =0.01 0.001 < < < < < < <
KY 7 B oo o F L v =0.01 0.001 < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < <
H ES 23 =0.6 0.06 — — < < < < <
> 7 s S 3 =0.02 0.002 = = < = < < <
s m wm K N A =0.06 0.001 < < < < < < <
Yy 7 m o [ B =0.03 0.002 — — < — < < <
Y 7 m ® s uowu AL v =0.1 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.002
= ES 3 =0.01 0.001 — — < — < < <
-3 NI RN S S Y =0.1 0.001 0.004 0.004 0.004 0.003 0.004 0.003 0.004
N YU o m o om R =0.03 0.002 — — < — < < <
. 7 m ® ¥ s owoum A H v =0.03 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
* 7 v E K L A =0.09 0.001 0.001 0.001 0.001 < 0.001 < <
A v A T L F B R =0.08 0.005 -— — < — < < <
o kK 2 ot A& DY =1.0 0.01 < < < < < < <
TNAHNIZU LR OZOED =0.2 0.01 < < < < < < <
% kK O £ o & & B =0.3 0.01 < < < < < < <
Ml Kk O o b A& B =1.0 0.01 < < < < < < <
FThrID AR OCZDONREDY =200 1.0 12.8 13.0 13.1 13.2 13.2 12.8 13.0
H|~YyH o O Zofdad D =0.05 0.005 < < < < < < <
W ot ®m 14 F v =200 1.0 9.1 9.2 9.0 9.0 9.2 9.0 9.1
HNT TN T IRy NE(H ) =300 1 76 76 76 77 77 76 76
& B 7% I L] =500 1 120 118 142 156 156 118 134
fz2 4 A4 v R om & A =0.2 0.02 — — < — < < <
Y = F A I v =<0.00001 | 0.000001 < < < < < < <
2- A F L A4 Y KR )L F A — | £0.00001 | 0.000001 < < < < < < <
H E O R T TR - | =0.02 0.005 — — < — < < <
7 = J — L H =0.005 0.0005 — — < — < < <
Y% (& A R ETOC &) =3 0.3 < < < < < < <
pH it 5.8~8.6 7.7 7.6 7.7 7.7 7.7 7.6 7.7
S HETROD BERL | BERL | BERL | BEALL REL | BERL | REAL
= kS HHE TR BERL | BERL | BERL | BERL Rl | RERL | REASRL
&) EOC E ) =5 0.5 < < < < < < <
) g E ) <2 0.2 < < < < < < <
7% % i ES =0.1 0.1 0.3 0.3 0.3 0.5 0.5 0.3 0.4
"ot A 1% .
W SR e GPTARE  No.l




